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Specific Instructions: (i) There are total eight questions in two Sections printed in
both Hindi and English.
(ii) Answer five questions, selecting atleast two questions from

each Section.
(iii) Marks are given against each of the question.

(iv) All questions carry equal marks.
@UE - A/SECTION -A

1. (a) @A F @A F1 3A I | TGH A F AN @A T e

AT B T ] F0H FHIT | 15
Point out the branches of accounting. Discuss the relationship of management

accounting to cost accounting and financial accounting.

1 30, 2017 1 ¥ T 3 Bwmh! i v we - vgfa o vma e

3 @i | 39 T 1 e Ged B 16,000 7 | el A 1 SR & fom S 2
ferie 01042017 31032018 31.03.2019  31.03.2020
%, 5,000 4,000 4,000 4,124

(b)
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2. (a)
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A B 1. 37ed TR W R A 5o st o @ | 36 A FHA T 10%a1ﬁfmfaﬁ?az
%{ammmwﬁmmm.mwﬁmﬁw@m@m
T SR | a1 aY 31 AT o w2 @ |

"“On 1%t April, 2017, Seth Studio purchased a photographic

15

machine on hire-purchase

system from Bharat Photo Ltd. The cash price of the machine is Rs. 16,000. The

total payment is to be made as follows :
Date 01.04.2017 31.03.2018 31.03.2019 31.03.2020

Rs. 5,000 4,000 4,000 4,124

Bharat Photo Ltd. charges 5% interest p.a. on the amount unpaid. The purchaser
decided to charge depreciation at 10% per annum on the original cost of the
machine. Give Machine Account and Vendor's Account in the books of Seth Studio.

The accounting year ends on 315 March.

SRR o HTER B o SITES[E 38! 7ot it | 3 U i T T | 10

‘Despite benefits of accounting, it has its own limitations’. Elucidate the statement.

S ST e RtaTd SRl | Y S g 1§ s e S
ST~ S ARG 1 S SRR bl Sl & 7 15
Explain the salient features of a dependent branch. What journal entries are normally

passed in the books of head office to incorporate dependent branch transactions ?

317, 2020 %) TG 1. 91 I TETaeh e o T, & gem o it €

(b)
oo wfa. aEfa.
®) ®)
YT I ;
3791 Gt :
% 10 TS T |l 3N 96,000 45,000
o 81 @ 24,000 (10,000)
HTG‘LZT&ITCT:
AT 18,000 27,500
IFm 1,38,000 62,500
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wvafeat :
wraferat 90,000 62,500
s 1. 3 T W 36,000 379 48,000 -
o 1,38,000 62,500
| st 2019 %) waw fr. 3 aré . % 3w arfardta B | g fofe moam f. % e
2 A &1 SR T 7,500 1 | TR Tor v dam e | 15

The following are the Balance Sheets of X Ltd. and its subsidiary Y Ltd. on
315t March, 2020

Particulars X Ltd. Y Ltd.
®) ®)
Equity and Liabilities :
Share holders’ Fund :
Share Capital :
Equity Shares of ¥ 10 each 96,000 45,000
P&LA/c 24,000 (10,000)
Current Liabilities :
Creditors 18,000 27,500
Total  1,38,000 62,500
Assets :
Assets 90,000 62,500
36,000 shares at cost in Y Ltd. 48,000 -
Total 1,38,000 62,500

On 15t April, 2019 X Ltd. acquired the shares in Y Ltd. At this date Y Ltd. has a credit

balance of Profit and Loss Account of ¥ 7,500. Prepare Consolidated Balance Sheet.

(c) T, ATee=, e anfe % 0T HTH 5= T I1 A T h T91 H Jad fme
1 Tore Wehr W foha 11 el € 7 10

How can minimum rent be reduced in case of stoppage or reduction of work due

to strike, lockout, accident, etc. ?

35/Commerce and Accountancy-I 3 PT.O.

Downloaded from: http://studymarathon.com/



bt

PSL - 35/20-Paper-I1

3. (a) e AR R 3 7 3R 3 7 e TR P ¥ A il A | 15
R What are the uses of cash flow statement ? Explain the main sources of cash flow
statement.
(b) Frfelan s T deen & g frd A o TR
2020 iy geaweed  awef el
) &) (5 TE)
S 01 400 2.00 -
SR 04 300 2.25 -
el 10 3 - 250
SHa 18 500 2.50 -
SHad 22 g - 450
S 25 600 3.00 ~
SHa 30 - - 500
At SR A 9 -3 B gew fita 3 i sivea gea fy m ke v 1 15
The following figures are taken from the materials record of a Concern:
2020 Material received  Price perunit  Material Issued
(units) (Rs.) (units)
Jan. 01 400 2.00 =
Jan. 04 300 2.25 -
Jan. 10 - - 250
Jan. 18 500 2.50 -
Jan. 22 - - 450
Jan. 25 600 3.00 -
Jan. 30 - - 500
Record these transactions in the materials ledger by pricing issues at weighted
average price method.
(c) CLEREIE 1
- AL ANTd
~ o ArTd | 10
Explain :
- Opportunity Cost
- Sunk Cost.
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4. (a)

(b)

©
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FEq % T & T T ETEA ¥ 7 AS-14 % sEn b £ g e
ol i | 15
What do you understand by amalgamation of companies ? Explain purchase method

of amalgamation as per AS-14.

- ¥.1,00,000

— ¥ 10,000

RIECRENICASING 70%

1 A (i) /AT I, (i) TR AW, (i) T 40,000 T 7 7 fagm

1 7T WO A | 15
Sales % 1,00,000

Profit ¥ 10,000

Variable cost 70%

Find out: (i) P/V ratio, (ii) Fixed cost, (iii) Sales Volume to earn a profit of ¥ 40,000
with proof.

W AT G AN AT H 9 i | 10

Differentiate between marginal costing and absorption costing.

TUS - 9/SECTION - B

5. (a) ‘R ¥ forxfta yere et Hfedi 3 wror e 991 § F6) Sed ™R | 5 S
&1 HATAATCH AT HIAT | 15
‘Financial management in India has substantially changed in recent years due to
government policy’. Critically examine this statement.
(b) T Tt & R Y gET & SMHR W femrse Y- dife ) momt it ;
(i) 4TSI I i & H 1 T g,
(i) 10% TSl I ! £4H & T@d g |
TR 3t AT ¥ 3,00,000
RIS 1 S{iaehTe (@1 7) 5
e kg T %1,00,000
A el HIH 10% 8 :
T4 I Il I IV \'
FauE ged wRE 0909 0826 0.751 0.683  0.621 15
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Calculate the discounted pay-back period from the information given below under
the following conditions :

(i) Ignoring interest factor,

(ii) Taking into account interest factor at 10%.

Cost of the project ¥3,00,000
Life of Project (in years) >
Annual Cash flow ¥ 1,00,000
Present value factor at 10% are :
Years I I I IV \
PVF. 0909  0.826 0.751 0.683 0.621
(c) wex = ey & A 1 w8 § iy it | jo

Briefly explain the sources of medium term funds.

% 6 () jﬁﬁ@gaﬁm%ﬁwmmmmﬁm@nmﬁmw
f 15

Explain the objectives of working capital management. How you will assess working
capital in seasonal industries.

(b)  SATeAreT foreeon o6 ww o R < e v, | 7o e ada a3 e s
® 7 T AV 3 fouR & TeHa & 7 15

Explain the MM theory of dividend distribution. Is it unsuited to present conditions ?
Do you agree with this view ? :

() i o it e ) P R AT e e ) 9 B | 10
Point out the main factors determining capital structure of a firm.
7. (a) 3o gienfia i | SeieH & faftm yerd &t amemed | 15

Define leverage. Explain various types of leverages.

7 (b) St for. ht st wrear Fifera & -

CER CICRIERISICINEVAT) % 10,00,000

10% JATTIR 3791 % 5,00,000

8% AU ¥ 15,00,000

3TYehT 509 T 1 @ HHA T & o AR I & a16 Yeii ht wTid 3ftaa A At
TOMT HA § | 15
Z Ltd. has the following Capital structure :

Equity Capital (expected dividend 12%) ¥10,00,000

10% Preference Share ¥ 5,00,000

8% Loan ¥ 15,00,000

You are required to calculate the weighted average cost of capital before tax and
after tax assuming tax rate of 50%.
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) 8. (a)

(b)
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maﬁﬁmﬁmmmﬁ%ﬁﬂmawmgﬁwﬁmﬁ )

In case of borrowing whether you will prefer issye of debentures or issue of bond —,1 0
onds

el =1 e o e o6 T @ 7 e 35 sivaron 3 e vt 36 e e
BT ? 4
How SEBI is managed ? What are the powers of SEBI in regard to protection of
investors ? g

- Y AYTE s P

Clarify with example :
- Zero Base Budget

- Average collection period.

() Usht 9 w@ qg1 SR H #E Hifer |

Distinguish between Capital market and money market. 1
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